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1. The building collapsed (1)/ at the atternoon
(2)/ at about 4 O'clock. (3)/ No error (4).

(2) Here, in the afternoon is

the right usage.
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2. Why you (1)/ copying your homework (2)/

from someone else? (3)/ No error (4)

(1) Structure of Interrogative (Present
Progressive) Why + am/is/are + Subject + V-ing
Hence. Why are you is the right usage.
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3. There 1is (1)/few time (2)/for
preparation. (3) / No error (4)

(2) Few (Det., Adj.) : not many.
Little (Adj.) : not much.

few is used with Plural Nouns and Plural Verbs

little/a little is used with Uncountable Nouns.

Hence, (a) little time (no time) is the right usage.
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Q4. Such rules (a)/ do not apply to (b)/
you and 1. (¢),/ No error (d).
A Such rules

B do not apply to

C you and L.

D No error

C. you and me.
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QS. I like reading (1)/ more than
(2)/ to play. (3)/ No error (4)
A I like reading

B more than

C to play.

D No error

C playing.



SSC CHSL 2022-23

Q6. I shall have to (1)/ withdraw from my
savings (2)/ to buying a new car. (3)/ No
error.(4)

A 1 shall have to

B withdraw from my savings

C to buying a new car.

D No error

C Replace buying with buy
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Q7. The new device (a)/ aims at eliminating (b)/
the risk of short - circuiting. (c) / No error (d)

A The new device

B aims at eliminating.

C the risk of short - circuiting

D No error

C the risk of short - circuit
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Q8. The priest emphasised (a) / that it is
the duty (b) / of all Christians to love
each other (c)./ No error (d)

A The priest emphasised

B that it is the duty

C of all Christians to love each other

D No error

C of all Christians to love one another
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l' " CLOZE TEST




SSC CHSL 2022-23

This is a reality that only (1) countries have been
successful in luring their talented (2) back home.
China, Korea, Ireland etc. countries got relative success
in (3) return migration due to the opening of their
economies and aggressive policies to (4) domestic
investments in innovation and R&D.Countries which
are capable to create opportunities for R&D,
innovation, and entrepreneurship can (35) return
migration and capital flow.

Identify the exact answer for the blank (1)?

a) Several b) A few c) Few d) European b) A few
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This is a reality that only (1) countries have been
successful in luring their talented (2) back home.
China, Korea, Ireland etc. countries got relative success
in (3)_ return migration due to the opening of their
economies and aggressive policies to (4) domestic
investments in innovation and R&D.Countries which are
capable to create opportunities for R&D, innovation, and
entrepreneurship can (5) return migration and capital
flow.

Identify the exact answer for the blank (2)?

a) Emigrants b) Immigrants c¢) Capﬂﬂjﬁig;ang) hub
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This is a reality that only (1) countries have been
successful in luring their talented (2) back home.
China, Korea, Ireland etc. countries got relative success in
_(3) _ return migration due to the opening of their
economies and aggressive policies to (4) domestic
investments in innovation and R&D.Countries which are
capable to create opportunities for R&D, innovation, and
entrepreneurship can (5) return migration and capital
flow.

Identify the exact answer for the blank (3)?

a) Coercing b) enabling ¢) Compqyg&ragaﬂgtracﬁng
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This is a reality that only (1) countries have been
successful in luring their talented (2) back home.
China, Korea, Ireland etc. countries got relative success
in (3)_ return migration due to the opening of their
economies and aggressive policies to (4) domestic
investments in innovation and R&D.Countries which are
capable to create opportunities for R&D, innovation,
and entrepreneurship can (5) return migration and
capital flow.

Identify the exact answer for the blank (4)?

a) fostering b) foster c¢) attain d)Ip(m)épi_ng, nurture
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This is a reality that only (1) countries have been
successful in luring their talented (2) back home.
China, Korea, Ireland etc. countries got relative success
in (3)_ return migration due to the opening of their
economies and aggressive policies to (4) domestic
investments in innovation and R&D.Countries which
are capable to create opportunities for R&D,
innovation, and entrepreneurship can (5) return
migration and capital flow.

Identify the exact answer for the blank (5)?

a) cause b) stimulate c) roll up d)b‘jli‘iﬁ’iﬁllate
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14. I shall not mix you.
A. with

B. for

C. along

D. by

A. with
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15. The house is infected small pox.
A. for

B. with

C. along
D. between

B. with
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16. This is the girl father is

a scientist.

A. whose

B. whom

C. who

D. None of these

A. whose
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17. She is the girl we saw in
the theater.

A. who

B. whom

C. whose
D. None of these

B. whom
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18. In ancient Greece, women were not
allowed to in the Olympic

Games.
1.compete
2.collide

3.comply

4.cope
Solution : 1

Compete means ‘to take partin a

contest’
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19. In order to to a new place you may
need to adjust to the ways of that culture.
1.adhere
2.adopt
3.avoid
4.adapt

Solution : 4
Adapt — to modify for a purpose
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20. Sangeeta was known to be a SO

nobody entrusted any important work to her.
A. joker

B. worker
C. shocker
D. shirker

Answer: (d)
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21. She does not tell lies, doesn’t she?
(1) isn’t she ?

(2) does she ?

(3) didn’t she ?

(4) No improvement

(2) does she ?



SSC CHSL 2022-23

22. Transcoding has one of the items in

the new syllabus.
(1) is one of the items
(2) has one of the item

(3) is one of the item

(4) No improvement

Ans: (1) transcoding (V) : computing to transfer
data from one format to another Here, is

one of the items is the right usage.
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23. The little boy fell from the roof.
(1) fell below the roof
(2) fell down the roof
(3) fell off the roof

(4) No improvement

Ans: (3) off (Prep) : down or away from a
place/at a distance in space/time Hence,

fell off the roof is the right usage.
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24. Because that there were heavy

rains the lake was flooded.
(1) Because of the
(2) As there were

(3) Since there was

(4) No improvement

(1) Because of the
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25. The greatest fear which is scaring of the

world today is global warming.
(1) which had scared of the world
(2) that scared off the world

(3) that scares the world

(4) No improvement

Ans: (3) Here, that scares the world is the right

usage.
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D

Home Work

politicians are always respected.

A. Conscious

B. Conscientious

C. Cautious

D. Carefree
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